oS 1A 3 0= AABC 9] ¢J4 |t} L/ABO = 30°, £0BC =
10°¢ o, LA 9] 27]E F-5tof=t

[ 2
> Hgh: 80°

H 07} &4olE2 OA = OB = OC
AOABOA /OAB = /OBA =30°

AOBC oA /O0CB = £zOBC = 10°

AOCA oA LOAC = zx2F SHH LOCA = /x
A7t o] Y zhe] -2 180°0]B 2

LA+ /B+/C=180°

30°+ Zx+30°+10°+10° + zx = 180°
80° + 2/x = 180°, 2/x = 100°

. /x=50°

. /A =30°+50°=80°




@ Tcm @ Sem

® 12cm

-

[whN

g

~4cem-~

Qoo

AABC @ ACBD(AAH )
BC :AC =CD :BC
4:(x+2)=2:4

SoX = 6(Cm)




3. &1 Zo] AD//BC 1 AttE]E ABCD o4 OA : OC =1:2
o]t} AAOD = 48cm? ¢ W], DABCD 9] Hol=?

A D
9)
B C
@4320m2 @ 480cm? ® 562cm?
@ 600cm? ® 642cm?

B \
AAOD : ACOD =1:2 90|22

48 : ACOD =1:2 .. ACOD = 96 cm?

ojmf AABD = AACD ©°|E 2

AABO = ACOD = 96 cm?

T, AABO:ACOB=1:20]|2=2

96: ACOB=1:2 .. ACOB = 192 cm?

- OABCD = 48 + 96 + 96 + 192 = 432( cm?)




4. o2 1389 AABCOIA H 0& 24o]th. /OAB = 35°, ZOBC =
25°d o, £,C9 A7)E?

oy
1
Q

25°

O 40° @ 45° ® 50° @55° ® 60°

B ~

/C = /x2F & W, AOBC7} o] 5HAZIF o] R 2 /OBC =
/OCB

wabA zx = 25° + ZOCA,

/OAC + 35° 4 25° = 90°

LOAC = /OCA =30°

S /x=D55°




2 AABC 9 A /B = /ACD, AC
1

(LT

18cm, AD = 10cm ¢ @, BD 9] ZAo9]
“Fotofet,
=i cm

>
> HEHD 224 cm

B
Lr _T'_%o]_m_g

/B=/ACD9]1 /A= 3
AACD @0 AABC (AA B
~10:18=18: AB

AB =32.4cm
.. BD=AB-10 = 32410 = 22.4(cm)




th 1™l aABC = B = 90° 1 AZH4Zo]al, oACDE
_ 1
Z|Atztegoltt, AR = 5AC, ZACB = 30° o o], /DEF ¢} /EFC

2719] 2=

30

@300 @3 O @36 O

rr

9

B

AC 9 EFH 0SS HoH H 0L aAABC 9] 9402 AR =
AO =0OC = OB °|t}.

/BAC = 60° 0|22

(EAB = 60° + 90° = 150°

/ABE = /AEB = (180° - 150°)=-2 = 15°

/(DEF = 90° — 15° = 75°

(EFC = 90° + 15° = 105°

. /ZEFC — /DEF = 105° — 75° = 30°




7. o ™A /BAC = 90°, AHLBC ¢ A
o, x ©] gh2? ,
zCI\n

Rr
D™ =
~9cm--"H4ent

@ 5 )6 ® 6.5
@ 7 ® 175

AH —BH-CH o2&
X2=9x4=36
x>00]B& x=6 o}




8. AE]E ABCD = AD//BC ©]1, BO: OD = 3 : 2 °|t}. AODC =
18cm? & W, AOBC 9] Yo]&=?

A D
0)
B C
® 9cm? @ 18cm? ®)27cm?
@ 36cm? ® 45cm?

AOBC 2} ADOC 9] =o|&= Ztt,
3:2=A0BC : 18cm? - AOBC = 27cm?




9.

thg 89 Althel® ABCD = AD//BC, A0 : OC = 1:3 0%
AABD = 20cm® € o, ADBC 2] Yo]+&?

A D
(0)
B C
® 30cm? @ 45cm? @ 60cm?
@ 75cm? ® 90cm?

AABO : AAOD =3:1, AAOB = 15cm? |
1:3 = 15cm? : AOBC , AOBC = 45cm? |
. AABC = ADBC = AAOB + AOBC = 15 + 45 = 60(cm?)




10.

t}& 1P ofA /BAD = /CBE = /ACF ©]
I, AB=17 BC=28, CA=94% 0, DE:
EF &9

D 9:8 @ 9:7 ®7:9

@ 8:7 @7:8

~&B

AABE oA /DEF = /ABE + /BAD = /ABC

ABCF ©f A4 /EFD = /BCF + /CBE = /BCA

w2t AABC 2 ADEF (AA ®2)°|22 DE : EF = AB :
BC=7:8




